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2017(0dd)

Time : 3 Hrs. Sem. 1 /11
Comp. Fund

Full Marks : 50
Pass Marks : 20

Answer all 15 Questions from Group-A, each question carries 1 mark.
J9-AQ g+ 15 91 & IR 2, TAF 9T FH 79 1375 2 |
Answer all five questions from Group-B, each question carries 4 marks.
go-B & df= usHl & IX I, UAF 9 H A 4 9% T |
Answer all Three questions from Group-C, each question carries 5 marks.
g9-C& @ 9l & I =, UUF U H A § 3iF 2
All parts of a question must be answered at one place
in sequence, otherwise they may not be evaluated.

T UL &F G4l A H IAX TH &l SFE (AR HH H) B
Fifen, ST q FE A S FHA @ |

The figures in right hand margin indicate full marks

g gred ® 3k gUrie B gaAb ¥ |
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GROUP-A

1. Choose the most suitable answer from the following options.
(Faifas Iugdeaa famed ®Hl gAY ) -

(i)

Ms excel is used for creating.
(@) Presentations

(b)

(c) Sending mails
(d)

Documents

Spreadsheets

TH TH UFAA BT ST ... % T grar 2
(37) IS er ™

() srrgHea

(@) af=T 9w

(&) =Isfires

Which is widly used word procassing software in
computer ?

(@) Ms-word

(b)

(c) Ms- excel
(d)

Ms-power point

Ms-access

T | | B9 eTe= dare dieday Hge § AIH
SUIET Eram © |

(37) ©q TS

(d) ©H Tg-9Ex gise

(i)

(ii)

(iv)

(iv)
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(|) wH Tg- TR
(8) ©H uwH =y

In Excel, charts are created using
(a) Pie chart

(b
(c) Barchart
(

d

)
) Pivot chart
)
) Chart wizard

TH - URAA H oo FH 7 F AE T ¢ |
(a7) T =

(=) wrgete =

@) =T =

(®) =ne e

All macro, keyboard shortcuts include the ........... Key.
(@) Alt

e & @ @9 Gt 3 @ “adwe B B A
SUANIT BT B |

(=) Alt

(=) Ctrl
(@) F11
() Shift

PTO
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(v)

Devices that allow you to put information into the
computer.

(@) Input

(b) Output
(c) Processor
(d) ALU

(v) == S X H GIAT S[AA & HE AW 2 |

........... printer is non- inpact printer.
Dot-matrix

Daisy-wheal

Electrostatic

Laser

(vii)

(vii)

(vii)

(vii)
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The brain of any computer system is

(a) ALU

(b) RAM

(c) CPU

(d) Control Unit

......... ®geX faeeH @1 AT 2 |
)T oA g

q) |9 91 g
g) &l gie

To produce high quality graphics (hard copy) in color,
you would want to use a/n

(@) RGB monitor

(b) Plotter

(c) Ink-Jet printer

(d)

d) Laser printer

= UEl % Alhd darel A BTS ®idl I
FHH & fw A 7 F & ST ST e ?
()m@ﬁaﬁlﬁﬁ?{

(=) il

(H)sﬁsﬁ?iﬁa

(

3) TASIX ex
PTO
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(ix)

(xi)

Abacus was the first
(a) eletronic computer
(b)

(c) electronic calculator
(d)

mechanical computer

mechanical calculator

(31) TSI HYEX

q) Hebfehed HHIY

(
GIESEAIRETEINEAS A
(

8) Hb{ehe BAgY

PROM stands for ...............

(a) Programmable read only memory
(b) Prolog Read only memory

(c) Permanent Read only memory
(d)

None

(37) TImEEd G ATl AHG
(@) T 2 AT JHHA
(@) wEe T ATAe aE
(®) =/ L |

Linux is a/n ...ccccoevveninen,
(a) Operating system
(b) System software

(xi)

(xii)

(xii)

(i)
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(c) Freeware
(d) All of the above

() SATRTET e
(@) s d@ideaax
(@) wiaax

(8) SUT=Fa G|
Hard disk is ...............
(@) Auxilary memory
b

(b)
(c) Permanent storage
(d) All of the above

Secondary memory.

Ms- Excel is a .............
(a) Language

(b) System Software
(c) Package
(d)

d) None

PTO
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(xiii) ©wH wE-uFEA ...l

(37) SfqusT |
(|) TaEew digeaay |
(|) BT |

(®) =12 L |

(xiv) Computer can use in
(@) Robotics
(b) Inventory
(c) Data analysis
(d)

d) All above

(Xiv) HFETT FH ITAT HT GHd

(37) Trafeera

(@) ¥

(|) Ser wAfaras
(8) SUT=Ra Tl

(XV) is a/n browser

(a)

(b) Mozila

(c) Internet Explorer
(d)

All of above

9
............ T ATHIT 2 |
31) UCI
g) Mozila
d) Internet Explorer
g) IYUFRT GHI |

—~ o~ o~ o~

GROUP-B

Answer all five questions :

Tl 9t gsHl & SA< 2 |
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2. What are the advantages of using open office Over Ms-office.

“oq ug-ofifthe” UX “STuA-Iifhd” & ITAT &HH &

SICTNEISICE 4
OR (3Terar)

What is the utility of task bar into windows?

fISist &% e*eh 9 T H T IUAEr € 7 4

Write note on www (world wide web)

e grEs Jg q dfer< Are g | 4

PTO
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OR (steram) OR (s71eram)

What is absolute cell addressing in a worksheet? Show the steps involve in creating shortcut of any

application software on to the desktop location.

TFHIE H gof qF 9ar = 8§ ° 4
SERAMY Id UX el TR STeddX & QAfesha I+
4. Define memory. Enlist its types also explain each in brief. &g e = Pl e | 4
FRE B AR FY | 2@ @t g & dier ==t 6. Whatis internet? What are the equipment required for internet.
FT | 4 gedHde FT 287 e¥Ac B [0 STELTs IUHIOT FT &7 4
OR (eTerar)

OR (3Terar)

Explain few formatting tools of Ms-office.
Define cache memory. Discuss in brief its role.

TH o e & HB EEIO IUHI H GieTed ren
HeT A & qRAT T | 39% HE AT B Gfer ==

F | 4
F | 4
GROUP-C
5. Define windows desktop. Discuss few incons displayed on )
Answer all Three questions : 3x§5=15
to desktop. geft @i uet B ST T s

fISIST & SETHE(T Bl YRHATHNT HX | ST & HUT , , - o ,
7. Explain the working principle of scanner, considering suitable

geidid BI9 ard B ATIHIA & Al == H | 4 example.

PTO
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THAT AT & B HIA B G Bl ISR & dfed J&IT

AT HR | 5
OR (31eram)

Explain computer application in data analysis, accounting,
Inventory with suitable example and suitable software

package use for the same.

FIYeY H 2T TAARAE, THreme THE F ITAFEr w
TIareTo] GHT | 91 & 39% e g«€fag areda? Usst
F AT == HR | 5

With the help of block diagram, explain in detail the basic

organization of a computer sytem. 5

ifeh TRE & Hee d FHYX fAEEH & g G719 &l

T R |
OR (steram)

Discuss the merits and limitations of word processing and

spread-sheet software of computer.
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g MATET ud WsiRe digeday & o ug dreretl &
fredqe | aren 1 5

Discuss about " Impacts of Information Technology on Society

in the new Century" in detail.

q2 T H gIAT SHFAISH B FHS 9T GHE Hl g

AT HR | 5
OR (steram)

Write short note on : -
(i) Working and manipolating data with Excel.

(i) Future with Information Technology.

1 u¥ Are /e - 5

(i) wFad 9T &M HIAT AT ST AJIAT HIAT
(il)y g==r drEnfEs wr Aatas

* %%
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